

Exercise 1:

$$\text{if } X_p = \sum_{i=1}^n b^i(p) E_{i,p} \quad \text{and} \quad Y_p = \sum_{j=1}^n a^j(p) E_{j,p}$$

Prove that $\nabla_X Y = \sum_k \left(X a^k + \sum_{i,j} a^j b^i \Gamma_{ij}^k \right) E_k$ defines an affine connection.

Solution :

An affine connection is a Bilinear map on M (a smooth manifold)

$$\nabla : \mathcal{X}(M) \times \mathcal{X}(M) \mapsto \mathcal{X}(M)$$

$$X \quad Y \quad \mapsto \nabla(X, Y) \equiv \nabla_X Y \quad \text{satisfying:}$$

$$\left. \begin{array}{l} 1) \nabla_{fX} Y = f \nabla_X Y \\ 2) \nabla_X (fY) = (Xf)Y + f \nabla_X Y \end{array} \right\} \forall f \in C^\infty(M)$$

We shall first show that $(*)$ satisfies 1) :

$$\begin{aligned} \bullet \quad fX &= f \sum_{i=1}^n b^i(p) E_{i,p} = \sum_{i=1}^n (f b^i(p)) E_{i,p} \\ &= \sum_{i=1}^n c^i(p) E_{i,p} \\ c^i(p) &= f b^i(p) \end{aligned}$$

$$\text{Then, } \nabla_{fX} Y = \sum_k \left(f X a^k + \sum_{i,j} a^j c^i \Gamma_{ij}^k \right) E_k$$

$$= \sum_k \left(f X a^k + \sum_{i,j} \underbrace{a^j}_{C^\infty(M)} \underbrace{f b^i}_{C^\infty(M)} \Gamma_{ij}^k \right) E_k$$

$$= f \left(\sum_k X a^k + \sum_{i,j} a^j b^i \Gamma_{ij}^k \right) E_k$$

since $a^j - f \in C^\infty(M) \Rightarrow$ they commute. \rightarrow

So we have seen that $\textcircled{*}$ agrees with 1)

Now we shall show that $\textcircled{*}$ satisfies 2)

$$\begin{aligned} fY &= f \sum_{i=1}^n a^i(p) E_{i,p} = \sum_{i=1}^n (f a^i(p)) E_{i,p} \\ &= \sum_{i=1}^n d^i(p) E_{i,p} \end{aligned}$$

where, $f a^i(p) = d^i(p)$

Then,

$$\begin{aligned} \nabla_x (fY) &= \sum_k (X(f a^k) + \sum_{i,j} f a^i b^i \Gamma_{ij}^k) E_k \\ &= \sum_k \left(\underbrace{(Xf)}_{\mathbb{R}} a^k + f (X a^k) + f \sum_{i,j} a^i b^i \Gamma_{ij}^k \right) E_k \\ &= (Xf) \underbrace{\sum_k a^k E_k}_Y + f \sum_k (X a^k + \sum_{i,j} a^i b^i \Gamma_{ij}^k) E_k \\ &= (Xf)Y + f \nabla_x Y \end{aligned}$$

Thus we have seen that $\textcircled{*}$ agrees with 2)

Since $\textcircled{*}$ agrees with 1) and 2) it defines an affine connection.